FORM FOUR CLUSTER KCSE MODEL9

PHYSICS PAPER 3 ANSWERS
1. = v, (cm) v, (cmi) d(em) =02
85 15.5 30.5 15.0
80 294 139
75 283 12.8
70 272 11.7
65 26.0 10.5
60 248 93
55 235 8.0
50 22.5 7.0

1 mark each for correct value of v, up to 6 values = 6 marks

1 mark more for correct value of d =1 mark
Total = 7 marks
(e) D=325-155=170cm=x02cm;
(f) X, =T5cm:
(2) r=1544s;
T=2=0.772s:
20
(h) @)  Axes;
Scale:
Plotting 8 correct points (2 marks)
Plotting 6-7 correct points (1 mark)
Otherwise 0

Line passing through atleaest4 correctly plotted points;
(11) yExtraction of points from the graph;

+ Evaluation ;

S=1x02;

(i) K =00034255:%0.001

2. PARTA
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LWX(em)x0.1 LYZ(em)£0.1
20 3.0 21
30 45 3.0
40 5.8 39
50 6.9 46
60 7.8 5.2
70 8.5 5.6
-Award a Ysmark each for correct values of LWX upto a maximum of 5 values
= 2.5 marks
-Award ¥z mark each for correct value of LYZ upto a maximum of 3 values
= 2.5 marks

Total = 5 marks
(g)(1) Labeling of axis + units;
Uniform scale;
Plotting:  ALL correct 5 plotting :;
3-4 points;
Otherwise award zero.
Line passing through atleast 3 correctly plotted points;
(g)1) P —slope;
= ; for correct extraction from the graph.
For correct value of P

P=15x01;
PART B
(@) ¥, =3.0+02F;
(1 F,=29x01V;
I, =06md£0.1
. ) 30+02
(k1) Electromotive force, E =1 = =
15201V ;

(i) E=I,(»+R)

3= (r +4700%; correct substitution
10000
=108
¥ foronecell = 1'38
=0.5401+0.1;

Compiled & distributed by Schools Net Kenya, P.O. Box 15509-00503, Mbagathi — Nairobi | Tel:+254202319748
E-mail: infosnkenya@gmail.com | ORDER ANSWERS ONLINE at www.schoolsnetkenya.corage 2



http://revision.co.ke/
http://www.schoolsnetkenya.com/
http://revision.co.ke/

